Puissances de Dix (I)

Trouvez chaque produit ou quotient.

18 - 101 = 50 -~ 10! =
40 - 1072 = 77 ~1071 =
66 X 103 = 1x10°=

10 x 10t = 23 x 101 =
231073 = 33 +103 =
39 - 10% = 21 10t =
44 +10° = 24 x 102 =
29 x 10" = 75 X% 1072 =
66 X 1072 = 76 ~10% =
83 +10°= 95 X 1072 =
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Puissances de Dix (I) Solutions

18+10'=1,8

40 +107*=4000

66 X 10° = 66 000

10 x 10" =100

23 +107°=23000

39 +10%*=0,39

44 +10° = 44

29 x 10* =290

66 X 1072 = 0,66

83 +10°=83

Trouvez chaque produit ou quotient.

50 -101=5

77 +107' =770

1x10°=1

23 x 10" =230

33 +10°=0,033

21+10'=21

24 x 10* =2 400

75 % 1072 =0,75

76 +~10°=0,76

95 x 1072 = 0,95

MathsLibres.Com




